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1.A 45E] 1998 £E 5§ BEShEiE sy — HRAE - S ELLZE R 2 WA R 600,000 7C
BB 750,000 7T« MHWELT 10 FELME TR S - FiSEE 200 - HUbEE
PR 1998 2 EENMTE A 23 FHRE TR0 Fid 7
a, A 600,000 FTEEFF 750,000 FGRES: 53 AR AR S0 A - BRF.2 —El5 -
b. FEF 150,000 T2 3EH 8% -

c. MEFI] 120,000 7.2 (SR AP IHE R K -
d. FEFY 150,000 7T SR 2 1% -

2B FREETEES - FERARSRAS 20 7T - BEERAPEIERT R 100,000
I+ ERE R ARG B 15% R EMEE 40 7T BIRAYER 20% 0 #H
FERTERERS 20,000 BT - AR ER AP EESSHRBET 7

a. $20,000
b. 560,000
c. $80,000
d. $40,000
3.C L ERREERTEIOT -
. A aHEE
EEIEEg | $10,000 $15,000
i W 100,000 130,000
BRI (20,000) (25,000)
i 100,000
$H PRI 2
B ERIEEH CTFRAASRS 22,500 0 « ARFERERE T 7
a. $7 500 :
b. $10,000
c. $12,500
d. $20,000

4.1998 5] D 22 S1%AT 10 E R T HERTH I S#9— ML 9 FEEA (T WA 100,000
JC - EHBS T TERBTE A - D A S IBTRERFIRE 12% - HbE AR
SFUEE 10% « 10%FFZ -0 Il 5 S EREE 75 6.145 - ] 12% ) BE IS
5.650 + SURH SRR R MRS 10 45 » JRGRAE « SN D A EI LTS IS SRR
eET?

a. §0

b. $100,000
c. 356,500
d. 361,450
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5.F 28] 1997 SE32HY 320,000 707 BIE SR A LU B — e 264+ J6H4EE 1 B4
HUTSBEFME - FRER MR 4008 %045 60,000 IF « ARULRME S vos i EEFES S 47
AATE] 1997 SRFEREEE M F RS S sas T 7
a, 364,000 :
b. $12,000
c. $12,667
d. $2,000
6.G 245 1998 FEREHDT ¢
b Ll $480,000
imae P 240,000

kT E AN e B S 600,000
i G 4T 1998 SEEEERTNS 32 7t BNEEARILBETF 7
a }.25%
b. 2.5%
c. 40
d. 60

7.8 R R DRa 1 RE A B QUMM TR B B 2 B i 2
a. HIEISHY
b. RAGETEEY-
c. {HIER
d. FHER)

B R MR M 1) R A R SRE R (v VB S R RS S R T o2 42 2
FORFEE AR

a, -4 T8
b. o w
c. T8 &
d T o

9.H 2T 1998 EEES % L BRI FAT 2,500,000 5T - #RALAAUWT

SEANMEMAIHE,  § 800,000
SEJEFEM I IEE 1,060,000
W E IR 30,000

RN IRE L ERUARET 7

a. $1,670,000

b. $1,700,000

c. 52,210,000

d. $2,270,000
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1At the beginning of [999,Sandlin Company discovered the following errors made in the
preceding 2 years:

_ 1997 1998
Overstatement of ending inventory $10,000 54,000
Omission of wages payable - 1,400 800
Omission of allowance for doubtfrl accounts 2,600 3,400
Prepayment of insurance recorded as expense 1,000 400

Reported net income was 334,000 in 1997 and 370,000 in 1998, The allowance for
doubtful accounts had a zero balance at the he;mmng uf 1997, Mo accounts were written
off during 1997 or 1998, Ignore income taxes,  °

Required :

(1}. What i is lh¢ correct net income for 1997 and 19987 (8%)

(2). l'-'repan: the adjushng ;nurnal entry in 1999 lo correct the errors. (6%)

2.The Fnllﬂwiﬁg is a list of the items to be included in the preparation of the 1998 statement
of cash flows for the Tiger Company: ' |
(1). Net income, 166,200
(2). Common stock exchanged for fand, $42,000
{3). Increase in inventory, $20,100
(4). Payment for purchase of patent, $32,400
(5). Depreciation expense, $32,100
(6). Ending cash balance, $283 400
(7). Proceeds from issuance of preferred stock, $158,400
(8). Loss on sale of investments, 314,400
(9). Paymenl for purchase of equipment, 5118,200
{10). Decrease in accounts payable, $12,000
(11). Proceeds form sale of investments, $25,500
(12). Payment of dividends, $90,000
(13). Proceeds from issuance of note, $75,000
(14). Decrease in accounts receivable, $15,000
Required : Prepare the statement of cash flows. (18%)
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3.0range Company entered into the following credit contracts in the acquisition of producing

assels.
(A). A car was purchase with $40,000 down and a 8 %, two-year interest-bearing nate
payable with a face amount of $80,000 for the balance.
(B). A Truck with a cash price of $100,000 was purchased with $25,000 down and a
two-year non-interest-bearing note for $94,080.
Required : Prepare the journal entries to record the acquisition. {6%)

4. The Boston Pops Fireworks Brigade got careless on July 4,1999, and a fire destroyed all
inventory on hand. The accounting, records provided this additional information:

Beginning invenlory 3 10,000
Purchases 625,000
Sales _ 500,000
Markup percentage on cost 25%

Required : Estimate the fire loss. (6%)

5.Baker Company, as a matler of policy, deposits all cash receipts and makes all payments by
cheek. The following were taken from the cash records of the company:

19985031 °

Deposits in transit $22.000
Checks outstanding . £4,000

June transactions: .

_Bank  _ _Books
Balance, June 1.............coooiiiiiiiiinciian o ? ¥ 58,000
June deposits ................... SRR 106,000 . 123,000
Junechecks ................coooce e, 145,000 139,000 -
June note collected{including (0% interest) ...... 22,000 ——--
June bank charges ............... s 1 00 e
Balance, June 30 .. . ... . s 32,900 7
Required

{(1). Reconcile the bank account as of June 30 using the bank and book balance to

correct cash format. (10%)
{2). Give any journal entries that should be made based on the June bank statement

reconciliation. {6%)




